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Sample Test Paper : Class-XlI

SECTION — A : PHYSICS

Awire has resistance 4Q2. If length of wire is doubled by streching it then new value of resis tance s :
T IR &I YR 4Q 7 | A€ 36 TR $T WD SHD! odlg G B Sl SR AT YRR &1 A 81T -
[Current Electricity]

(A) 4Q B) 8Q

©€) 120 D) 16 Q

Two metallic sphers of radius 1 cm and 3 ¢cm are given charges of —1 x 102C and 5 x 107 C respectively. If
these are connected by a conducting wire then wire then the final charge on bigger sphere is
qrerg & el &I A 1emden 3 ecm g 139 W —1 x 102C q2r 5 x 1072C 3razr shHen {331 731 8 | Al 1 Tt
HT TS TR GRT 1S &1 SR a7 98 el R 31 3IIRT &1 AT BT |

(A) 3 % 102C (B) 2 x 107C

(C) 4 % 102C D) 1 x 102C

SECTION — B : CHEMISTRY
The anions (A) form hexagonal closest packing and atoms (C) oceupy only 2/3 of Octahedred voidsinit . The

general formula ofthe compound is :

TR (A) Pl [fds Haged a9FT & | 3R u=A] (C) 384 dhad 2/3 rehaa RiddedT 3@ & | A1 A1 &1 ame
g |

[The Solid State]

(A) CA B) CA,
(C) CA, D) CA,
A first order reaction takes 40 min for 30% decomposition. What willbe t , ?
U GerM pife i rfehar § s0: faASH g # 40 ffe orrar 2 t &1 ?

[Chemical Kinetics]
(A) 77.7min (B) 52.5min
(C) 46.2min (D) 22.7min

SECTION — C : BIOLOGY

Which one not found in mature male gametophyte

[Sexual Reproduction in Flowerring plant]
=1 7 9 P uRugd R gHBEMAE # T8 IRy S
(A) Vegetative cell / 1 Bifrer (B) Generative cell/ S+ Tt
(C) Cytoplasm/ PIferwT a1 (D) Lysosome / ATsH—™M
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8-16 blastomeres structure is called :

8—16 SARCIARINY GRAAT Bl B

[Sexual Reproduction in Human]
(A) Morula/Arsar (B) Gastrula/ IRggr
(C) Zygote/ g (D) Embryo /g
In India ‘family planning’ programmes were initiated in ?
ARG H IRIR A" BRI AT B YR He gg ol ?
[Reproductive Health]
(A) 1971 B) 1977
(C) 1951 (D) 1947
Which of the following male animal is not Heterogametic ?
A ¥ | BT R i favgEer T8 8 7
[Principles of Inheritance and Variation |

Animal / 5T=g Chromosome No. / o ST
(A) Fruit Fly / %ot #ait 2n=AA+xy
(B) Fowl / gt 2n=AA+zz
(C) Grasshopper / fcgst 2n=AA+x0
(D) Human/ #ra 2n=AA+xy

Which enzyme is used for separation of DNA from fungi ?

BT UrolIgH Bhdd HIfTHT F SIUA.T. Bl YIh Bl B 2

[Molecular Basis of Inheritance]
(A) Lysozyme/ digdreigH (B) Ribozyme /rsdsTgH
(C) Chitinase/ PSS (D) Cellulase/ 3ierst

SECTION — C : MATHEMATICS

The number of equivalance relation in set { 1, 2, 3} containing the elements (1, 2) and (2, 1) :

wgzaa{1, 2, 3} 5 sraar (1, 2) 7o (2, 1) &1 a1 dTel JoordT Tl &) 6T ©

[Relations and Functions]
(A) 0 B) 1
© 2 ®) 3

_ _ f 1
If tan” x —cot™' x = tan l(fj then:

(A) No solution of equation (B) Only one solution of equation

(C) Infinite solution of equation (D) Two solution of equation
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_ _ _ 1
TR tan ! x —cot ! x = tan 1[—}
3

[Inverse Trigonometric Functions]

(A) &1 B¢ 8T T8I © (B) &1 dac U A ¥
(C) & oFfd 5 & (C) Harga B
7. If Aand B are two symmetric matrices of same order then (AB’-BA’)isa:
(A) Skew symmetric matrix (B) Zero matrix
(C) Symmetric matrix (D) None of these
afe ATem B <1 @ B & wfi anegs @ o (AB'-BA') # o -
[Matrices]
(A) fawm wafaa snege (B) = smeE
(C) wafa smege (D) 7 & IE e
Ax X2 1 A B C
2
8. 1A= Y Nanda =¥ Y Z then:
Cz 2% 1 zZy zZX Xy
Ax %1 A B C
2
aea=|> Y Nawa =X Y @
Cz 2% 1 zZy zX Xy
[Determinants]
(A) A =-A B) A=A,
(C) A=A (D) None of these
9. In the following question A statement of Asseration (A) is followed by a statement of Reason (R). Mark the
correct answer.

Asseration (A) : |sin x| is contimuous for,all x € R.
Reason (R) : sinx and [x| are continuousin R.
(A) BothAandR aretrue and R is the correct explanation of A.
(B) BothAandR aretrue and R is NOT the correct explanation of A.
(C) Aistrue, butRis false.
(D) Aisfalse, but Ristrue.
ffoiad ge # A ®oF el R $RUT 1 YalRid &vd 8 @1 |81 S’ Bl aIT PN -
Fo (A) : | sinx | ¥ad & ¥ x eR & ferw
$RY (R) @ sinx oI |x |R ¥ ¥ad &
[Continuity and Differentiability]
(A) ATaTR SHT 9 ¢ T2 R, A& FE1 ARAT T 8 |
(B) ATemR M ¥ & Wg R, A& Hel ARRAT &1 T & |
(C) A¥a§ e R g |
(D) Adad g, g Ruca 2




